Examlet 3 Foundations of Advanced Math 3/23/18

1. (a) State the definition of an injective function.
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(b) Give an example of an injective function.
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(c) Give an example of a function which is not injective.
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2. (a) The sum of two odd functions, both with domain IR, is odd.
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__ (b) The composition of two odd functions, both with domain R, is even.
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If f: A— Band g: B — C are surjective functions, then g o f is surjective.
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4. Let f : A - B be abijective function. Then the inverse function of f is unique, i.e. if
g1 and g are both inverse functions for f, then g1 = g».

{77,-,-5 f:ﬂapz '3 L/'Zz.ix«i/e! and bolh 2. M‘Jﬂz ave
bpyerse Jymokions Lo I Then we Lo 4,:B>4 aud
4, B >4, Suce J ,'fw»jz#dg) Y4B {ach such Hat

f(a>=!»> S0 j, (l\(fiﬁ-'ﬁ,(b) o a= ,(.17)) mesz(f(a))z‘jz(é)
<0 a::ﬂz(b}‘ Bt Yhen 9,(5) :jz{!:) W_? éég)a‘ﬁ{%

ﬂ.:ﬂz- ET
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